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= ~ The following problems are independent, answer them respectively: (25%)
1+ Hunt Co. at the end of 2015, its first year of operations, prepared a reconciliation between pretax financial income and

taxable income as follows:

Pretax financial income $ 750,000
Estimated expenses deductible for taxes when paid 1,200,000
Extra depreciation (1,350,000}
Taxable income $ 600,000

Estimated warranty expense of $800,000 will be deductible in 2016, $300,000 in 2017, and $100,000 in 2018. The use of
the depreciable assets will result in taxable amounts of $450,000 in each of the next three years. What is income tax

expense for 2015, assuming an income tax rate of 40% for all years.
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2 ~ Jack Company issued a two-year bond, face amount $10,000, 10% coupon rate on December 31, 20X0, interest payable

annually for the proceeds of $10,000. Jack designated the bond measured at fair value through profit and loss, and
considered that the recognition of change in the fair value of its own credit risk 1n other comprehensive income will not
result in accounting mismatch. The original effective rate was 10% and the benchmark interest rate at the time of issuance
was 6%. On December 31, 20X1, the fair value of the bond was $10,200 and the benchmark interest rate was 7%.

What amount should be recognized in other comprehensive income (or loss) for year 20X17

3 ~ Rose Company granted 100 stock options for eace of its 50 managers on January 1, 20X1. The vesting period was three
years. The fair value of the stock option was $15 per unit. On December 31, 20X1, as the stock price of Rose Company
had declined, the Company had reset the exercise price of the option downward, and the vesting period remained the same.,
The fair value of the option immediately before and after the reset was $6 and $8 respectively. On December 31, 20X1 and
20X2, the Company expected that 10 and 12 managers would leave the Company respectively. What compensation

expense should the Company recognize for year 20X27

4 ~ The controller for Haley Corporation is concerned about certain business transactions that the company experienced
during 2016. The controller, after discussing these matters with various individuals, has come to vou for advice. The
transactions at issue are presented below.

(1} The company has decided to switch from the direct write-off method in accounting for bad debt expense to the
percentage-of-sales approach. Assume that Haley Corporation has recognized bad debt expense as the receivables have

actually become uncollectible in the following way:

2015 2016
From 2015 sales 31.800 12,000
From 2016 sales 45,000

The controller estimates that an additional $65,400 will be charged off in 2017: $11,400 applicable to 2015 sales and
$54,000 to 2016 sales.

(2) Inventory has been shipped on consignment. These transactions have been recorded as ordinary sales and billed as such on
account. At December 31, 2016, inventory billed and in the hands of consignees amounted to $400,000. The percentage
markup on selling price is 20%. Assume that consigned inventory is sold the following year. The company uses the

perpetual inventory system.
Instructions
Assume that Haley Corporation erroneously reported net income of $1,000,000 for 2016. What should be the correct net

income for 20167

5~ Assume that the following data relative to Kane Company for 2016 is available:

Net Income $2,100,000
Transactions in Ordinary Shares Change Cumulative
Jan. 1, 2016, Beginning number 700,000
Mar. 1, 2016, Purchase of treasury shares  (60,000) 640,000
June 1, 2016, Share split 2-1 640,000 1,280,000
Nov. 1, 2016, Issuance of shares 120,000 1,400,000
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8% Cumulative Convertible Preference Shares

Sold at par, convertible into 200,000 ordinary shares
(adjusted for split). $1,000,000

Share Options

Exercisable at the option price of $25 per share. Average

market price in 2016, $30 (market price and option price

adjusted for split). 60,000 shares

Required: Compute the diluted eamings per share for 2016. (Round to the nearest penny.)
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